
Physics 12 Formulas 

Fnet = ma     Ff  =  FN  

Fg = mg      F = kx       

 

 = Fr      mava + mbvb = mava’ + mbvb’   

 

mava +mbvb = (ma +mb)v’    (ma +mb)v =  mava’ + mbvb’   

 

Fc = mac      ac = v2/r  

 

v = r      ac = r2 

 

tan  = v2 

             rg  

 

Ek + Eg + Ee = Ek’ + Eg’+ Ee’   Ek = ½mv2 

 

W = Ef – Ei     W = Fd 

 

Eg = mgh     Ee = ½kx2 

 

y = yo + vyot  + ½gt)2    x = xo + vxt 

 

vy = vyo +  gt     vy
2 = vyo

2 + 2g(y – yo) 

  
vx = vxo + at     vx2 = vxo2 + 2a(x – xo) 

 

R = -vo
2sin2      H = -vo

2sin2θ 

              g                           2g 
 

T = -2vosinθ     v=2r 

            g             T 

 

T=t/N       

 

x = -b ± √(b2 – 4ac)     F = mgcos 

    2a  

 

 Electricity – Not used on the exam 

  
V = Eq     I =q    R = L    V = IR 

        q         t            A 

 

 

P = IV   P = I2R   P = V2    Eq = Pt 

                    R 

 

Cost = rate x Eq  FQ = kq1q2      E = FQ    g = Fg 

                     r2           q          m 

 

E = kq   g = Gm    Fg = GMm 

       r2                        r2               r2 

 

 
k =9 x 109Nm2/c2   G = 6.67 x 10-11Nm2/kg2 

 


